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ECONOMICS
[HONOURS]
Course Code : ECOH-CC-T-1
Full Marks : 60 Time : 24 Hours

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

1. Answer any ten questions: 2x10=20
-G veifs Sfesr Tea wie ¢
a)  What is social opportunity cost?
Aifers st I 390 G @@
b)  What is marginal cost? -
AIF 33 F=A0e & @RI
c)  What is the law of demand?-
Bifzwia st e

d) What do you mean by price elasticity of-
demand?

Bifga wiw-ste Ffogieee! s A @Rl
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Distinguish between houschold demand and
market demand.

sifdqcas viftw @ e oifauta New Hfide @)
What do you mean by competitive market?,
RTarengEs e I60e § @

Define Indifference Curve.

SR JEER G

If there is an increase in the money income of

the consumer, what will be its impact on the

consumers’ budget line?

(SIS WY BT OB (AN By v &era
I
i Te gule ()

What do you mean by *stability of equilibrium™?
TR RIS e H @@
What is consumer surplus?
191 TYE T J @A
What is the difference between houschold and
firm?
#RATR qR FIGR TG S GO
What do you mean by revenue and profit of a
firm?
IR AT qa g 39 s § @l
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Distinguish between average product and

marginal product.
o1y GerAlna ¢ aifga GesAmea sy Alday @Al |

Distinguish between short-run and long-run

production function.

a6 Bada LeAma wrABea ar A1da
@l |

What do you mean by diminishing rate of factor

substitution?

P Gogaa-sfaader 2 aere A A

Answer any four questions: 5%4=20

Q-1 sTafb draa Tea wie @

a)

b)
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Explain the determinants of household demand.
“ifaatca sifon Fiffaqad fmofer arm w2

What is meant by equilibrium price? How do
the forces of demand and supply determine the
cquilibrium price in a competitive market?

Explain.

SR A1 4TS F) (Al 2 [ e bifew-anea are-
efewire sy wr fadifae 2 @) a2
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Mention any four factors, other than the price
of a product, which influence the supply of a

commodity.

W Tore W= Q-1 1Al farna am vray 39
@efd @R @A QS Aeifis IR

Suppose the price-elasticity of demand for a
commodity is equal to one. When the price is
Rs.4, the demand in the market is 300 units.
What amount will be demanded if the price falls
to Rs.3?

421 TP GF0 A wHste Riegeeen Im 93 |
T 9% B2 9N 8 Biwl 2W, 1 51w wffame woo
GT% | 9% CFE I B AE I © DI T SIRTEA
o2 sifEwa sifae e za o [dRd 321

Discuss the relationship between marginal cost
and average cost curves with the help of a
diagram.

ez 7 afee T @R T I @A T
JTADA F4 |

Distinguish between returns to scale and returns

to a variable factor.

TeoAmA efewrAa W@ w93 TAPAEE
afewiraa faraa Ty ANdmalA @

(4)

3. Answer any two questions:

10x2=20

-caiean gfb arsta TEa wna

a)
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Discuss consumers’ optimum choice under
budget constraint. If price of any one of the two
commodities consumed by the consumer
change, what would be its impact on the
optimum choice?

Sraram AEE 413 A (oG AATE AW HAE
SETS T4 | (ST Aa%S 130 wraa iy gwiba
A ARASEA BT (oteTa AdER Aarea Sofa #
#S1q 54 G JCEAD 4 |

What is an isoquant? Why is it convex to the
origin? Explain with the help of this curve how
a firm attains equilibrium, assuming that the

prices of the factors are given.

AA-TeAMH (@A D 2 93 (@ (4 T2 e T
7 7 GAFATIR W (GU AT G FA-BLATH (FHR
G T SR M T S 2

Explain, with the help of diagrarﬁs. the notions
of the average cost, the average fixed cost and
the average variable cost of a firm in the short-

run.

por

AT P AT A, TG 5 AW G 1S A

U e yraeafa B S arm a9
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With one variable factor of production, identify
the three stages of production according to

“returns to the factor and hence explain why

efficient production takes place in the second
stage.

e 93T RIS Sorpara efewica e
o= ¥ I IF W3R (e @ fTdh walt =
TeAMEI 7S |
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